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9i. (I) lla
;

(u) f V7 ;
(m) B or - 12 ;

(iv) » = 1 or 1 VTSJ

y = 5 or i

94. **-x»-7x"-llx + 42 = 95. m 96. (o* + a6V2 + 6)
(o* - a» 6» V2 +6*)

a(ed - e - 6c) 6 (cd - « - ad)
98. lA 6Am 99. x =

jj^:^;^ ; V - —J^j^s: i

Problem indeterminate.

61«-Y0
100. J (a+ 6) 101. 6x« + 10*» + 5x - 23 - ^ ^ ^^ ^ 3

or 6x» + 10«» + 6x - 23 - 61x-» - 63x-» + 79x-» + ke
102. X - y ; if y = 1 the G. C. J»f. is x» + 4x - 6

104. (a' + amV2 + m») (a»-om V2 + «") (o* + a* m? *JZ + m*)

(m* - u» m» V3 + m*)

105. 1 106. 3

114. 116. 7x»+7xy + 7y» 116. 2x» + x-l
117. (2x-l) (x + l)(3x+2)(3x-2)and(2x-l)(x + l)

(2x + I) (2x - 1)

1 ( X + x'
119. An indeterminate equation

;

an identity

.118.
1 - X - X* + x"

128. 11, 9, 7, 6, &C 126. 3-2 + |-f + i?-&c
2618 -'* 391391 '"

'^°* 6561 ' 1694323

129. x6 - 6x» + 6x* + 30x» - 51x» - 24x + 44 =

4frc '-ad

-'»
^ 2.6.8...(3r-l)

* i (-1) >*—pin?— ^

d-4c
n+ 1

130. i (- 3 i V5) 131.

133* x = 2, y = 3, « = 4 134.

135. 21 and 24 136. 1 i VT9 137. x = 10, y « 8

140. I {i V4no6 + (a-6)» - (o + 6)} 141. i or ^ 1 42. | V3
a» 6» «

143. x = i . „ ... ', y = i-7=====; z-±

145. 6»-l. 146. "27+27.

Va« + 6»+c'

147. o* + 6* + c* + <*»•

148. i|a(x + 2)^1}. 149. a + 6- c.

3x« - 4x - 1
160. 4x «. __ -—

. 4x-8x->4-4r'4-7x'-.ll(r«**«
'+2X-1 '


